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otherwise the student wi
(D) (C) (B) (A) QUESTIONS Q-1
B=1lA=1|B=0LA=0|B=1sA=1|B=0sA=0 (0 e % o
: = - . . | 7 sl L
Anyofits |  Anyofits Both of its Both ofits /:djf Vgl JJA"" L
inputsis ‘1’ | inputsis'0’ | inputsare’l’ | inputsare ‘0’ | The output of a NAND gatc is 0 when
Selde | 63957 bows Ce Lol |
Calculating Gathering | Manipulating | Arranging | Which of the following is not processing?
1/ . JLA’!LL;P’UJ»_QUJ..QJUJLJT;'/TL/:‘?v_(l 3
16 1/ Jogti | JobndST o o
One- One-cighth ‘One-quarter One-half The half-life of a certain isotope ?J ,wu’( A J .(:’;" i
Sixtcenth . . :
o is | day. What is the quantity of the isotope after 2 days?
| a}'f’.:',g, j;:'&{-! U”-,{/ prs 4/‘;{:okr‘?d/»:/.’rédunycddigJﬂ 4
Wavelength Amplitude Frequency Speed Which of the following characteristics ?dﬂuﬁf
of a wave is independent of the Others?
O
5 T T (z_w:mffv b, SUhad S| s
aT \?2 =¥ : _2_ If the length of&r‘p Penidulum is doubled its time
period willbes ]
¢ DI ]
;l};//gilu:JVc_:/‘-’./vubrbd:J.K»’_ 6
85-90dB 4 - - - . - '
W | B-dp | BS-RE %ﬁwel ofnoisc recommendedin ~ ~-b5s20
A\ 5>nost'coumrics over an eight hour work day is usually

s 25y b géx* St g AF Sl KA ISR | 4
Amplitude | Wavelength Period quency | The loudness ofa Sound is most closely related to its.
Ko '?c‘-—b“-‘f-é‘s!("&//,d/’)‘!ufgf 8

J};J!J"U’éf Jflujfup.og’,
[nverted and | Which type of image is formed by a convex lens on a

Uprightand | Upright and
virtual real real Screen?
i 4 iy 2 s s T ,
f=X&E & k4 dnﬂfidelJV;ﬁfLEiJ
!i;=0.25cm H=08cm | £ =1lcm ‘ ‘ v ' & i
' f, =fewem | Incompound microscope, eyepicce has focal length
LikLh,ﬂ,gjf’ Lted Ml {(4_/:).._[! :(4,/13_{1 ,’::“/", UA’J/’?I 10

S it | S mfivs ‘Jfﬁ/d”, UC’GC/”" Electric field lines

B0t wd St | Nevercross Always
Crosseach | Cross each each other cross each
other in the other in the other

region of region of

weak field strong field

,g.fngf(,;&,w#u{'éz__;zcwr&12v .
14.5W 48 W What is the power rating oﬂ'xl,;.;{-tf'/lS Ac iy .

a lamp connected to a 12 V Source when it carrics 2.5 A?
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Same ' If the current in a wire which is placed perpendicular
to a magnetic field increases the force on the wire.
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Part 1 J,

Answer briefly any Five parts from the followings.

5x2=10 -

9 '..47
LS f ez Linbhe S e tditn 24y

Define clcctroslaticsuJg’;-_f....éj/‘?ur [ ,/'_0, (i) Differentiat between Crest and trough. -éﬁ':ﬁ)wym[_d}uly/ i

Define refraction and differaction of Waves.

What is the wave form of electromagnetic waves? -

Write any two factor affect the ability of a capacitor to store charge.
What are two hazards of static electricity. Explain any one
What is meant by potential difference, write its unit.

Can current flow in a circuit without potential difference.
~ Answer briefly any Five parts from the followings. ~ 5%2=10
What is the difference between Pitch and Quality of Sound

What is necessary condition for the Production of Sound?
What is meant by Reflection of Sound?
What is the difference between hardware and software.
Write the name of four parts of computer.
What is electronic mail Write its one advantage.
Define Nuclear fusion; write its eqn.
Write down the Two properties of Beta Particles.

Answer briefly any Five parts from the followings.
Write two laws of refraction of light.

What is optical center? Show it by diagram.

5%2=10
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i

Why pencil looks bend in a glass of water? @J “c.dl/” u:fu’/ J"d{/ uld:dtu"gﬂf Jii
Explain OR operation with the help of truth table. O ,J__/’//L:J" /:/JL»:JJ{,! g v
What is the role of deflecting plates in Cathod illoscope? ?uja/bulJf_qu%:..aQshﬂ.r;kﬂé_ﬁﬁ-f v
State Fleming's left hand rule. 04 A u_l::d:‘l 74 l,uf@ﬁu@:u i
What reverses the direction of electric cu ¢ armature of D.C motor? ?4.8(_,..')!5 HS er§ S /'.aluf AASdvsys il
Define NOT gate and make symbol. ,.gj_{bdf ”"j’,ﬂ - /‘7 J ofep il
Part 14 ([ 4
Note: Attempt any Two Questions. 9%x2=18 _q:f /J’ al,L?.L..:Albmr.Jﬁ.bJ
5.a. Define specific resistance and Prove that R = pﬁ- R = P = fé&t"J’léJ/“"‘JJ"‘f’bﬂ .a.5
b. A Pendulum oflength 0.99 m is taken to the moon by an astronaut. The Period 1" . L4 c‘../ 0.99 du Ju) /HJM AU -..f’ .b
" of Pendulum is 4.9 Sec. What is the value of ‘g’ on the surface of Moon? "f/b(...-t’ Jg/ gu()ladc,v¢4 94 /_b")u_';; <
6.a. Whatis Ultrasound? Write down any Three (3) its uses in detail. *ffc,..vu;Jb"’lufcdy’lﬁgﬂ?f;_ghwﬁ' .a.6.
p. Carbon-14 has a halflife of 5730 years. How iong will it take for the quantity of d’j}.lJ]4-cj;JK_+JV 5730 JUJQJM—M,&’ b
Carbon-14 in a sample to drop to one-eight of the initial quantity? -b’ﬁ/{/;.::’:l;(’d_"_ ZZH_,lvﬁl[..f %gj,j,
7.a. Explain the working of DC motor -é.-,au,Ji.erL/‘ru'ds a7
b. Anobject 10 cm high is placed at a distance of 20 cm from a concave &1 sem s S J\fﬁ'!:‘%— 10cm tj‘{"d’f)u-_(’ b

lens of focal length 15 cm. Calculate the position and size of the image
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Note:~ You have four choices for cach objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that )
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover

or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
i o " G Luds L ? U Poye = Pt p 92227 | 1
Mass Momentam Charge Energy In an ideal transformer P,y = P;;, this is?‘a.f}fl!v'
according to Law of conservation of
La e | bt | cdpBE | cnds e el Soar B GE | 2
& ~ . Magnetic Small mass | The presence of a magnetic field can be detected bya
Stationary Stationary
; -~ compass
negative Positive
Charge Charge
/7,
X=A+B | X=AB |X=A+B| X=AB _ 5 ‘ol’ku.‘i'}:!J-‘—fQR 3
The Boolean expression fo @A ate is
» . - 5 i . < (—/ 2 ,
/’-"-'j "':’u/ el < A "u,']éfg)"p : "‘J‘ /,'._?A c..(ffa.u:d},.?/ﬂ 4
Computer Book Teacher Internet From which o owing we can get information
‘ almost,a\bf)\ﬁ hing
. ( / b3 P A
% n m b WZ‘Z L casiii S b LoredsdTys, | 5
I-131 Co-60 P-32 C-14 > & e : A
: : \Tﬁ isotopes used to diagnose the brain tumer
cteokn | ebborll | etlenf | ¢ sl % e blow A LIS e L $ | 6
s e : N 0 — ek g "
Increaseby | Increaseby | Decrease by A radioactive nuclied decay by emitting a beta
2 1 1 g{wﬁa\ d | particle. The atomic number of the nuclied
.. . N = A - . &, 5 P>
eOesttl | dnmfldw | e duf @A box | It/ IS S st |
Become " Remain Dec Increases A Akt JJ’ 9o,
, In mass sprin .-sylépfm, when mass m moves towards - | -
double RS : mean position. The magnitud® ofrestoring force
g -, 2 T~ 3 v 5 o b
g2 S E 8 JeE ef vulfeas | 8
Thermal Mechanical Electrical Chemical | Which form of energy is sound? i
sk b kS By, clntw LSS el SinddtE o | 9
Amplitude Direction Frcquéncy Wavelength SHetachion, 'l"he i s e
due to change in
. ul_.fu/:ufz‘:.fim.hlidynbf'/'.’/lg:—ﬂ,;’»Jbé:(-,/lg1 Cl 10
I1x10°N [ 1x10°°N | 9x10°N | 9x10°°N _ J”J”’%*J’r
The coulombs force between two point charges each
of magnitude 1 C separated by a distance of 3 m is
U EEaT Ayt bid e soe i Ziav] |
- o . ad s Ay S25 A e S
What is the Power rating of a lamp connected toa 12
volt source when it carries 2.5 A current
Jy L K 2y ¢-0boke a2 LU UYL | 1
) . The resistance of a conductor increases with the
Length Area Diameter Radius increase ofits

o o

1031- 1024 - 32000 (4)
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Part I

5x2=10

Answer briefly any Five parts from the followings.

Write any two featurcs of SHM

Who invented the Pendulum Clock and when?

Define damped oscillations. Give its an example from daily life.
Draw the diagrame for three capacitors connected in series.

Write any two factors on which the capacitance of a capacitor depends

Define Electric field intensity and write down its formula.

Define Resistance and its SI unit.”

Define clectric power and write down its formula

Answer briefly any Five parts from the followings. ~ 5x2=10

On what factors does the soundness of sound depend?

Sound is a form of wave. List at least three reasons to support the
idea that sound is a wave?

What is difference between pitch and frequency?
Define Nuclear transmutation. - &= & th S22 R)

Write down the two advantages of electronic mail.

What are browsers? Give their two examples.

What is difference between atomic number and atomic mass.

Answer briefly any Five parts from the followings. ~ 5%2=10

Why is the driver’s side mirror in cars convex rather than plane or
concave?

Define Power of a lens and its units?

Define the term resolving power and magnifying power.

Which device is used for converting clectrical energy j

mechanical energy?

Why is the voltage used for the domestic s

0

voltage at which power is transmitte

What do you know about floure
Draw the truth table of AND g
Part I

Note: Attempt any Two Questions.

5.a. Whatis Joule’s law? And explain The energy dissipation in a resistance
The force of repulsion between two identical positive charges is 0.8N

when The charges are 0.1m apart. Find the value of each charge

6.a. Explain the importance of acoustic Protection in detail.

b. Ashes from a campfire deep in a cave Show Carbon-14

activity of only one-cight the activity of fresh wood. How long
apo was that Campfire made

7.a. A current- carrying coil in a magnetic field expericnces a torque. Explain it
An object and its image in a concave mitror are of the same
height, yet inverted when the object is 20 cm from the mirror.

What is the focal length of the mirror?

G s

% lower than the

9x2=18
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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D)

(C)

(B)

(A)

QUESTIONS

Q-1

o

'N,=10N,

n="e,

lsz 10 Ip

In10ePSus kL it N

The tum Ratio of a transformer is 10. It means

.1

2.85 year

30 year

5730 year

12.3 year

Half life of Hydrogen is -q_J/U..JW/ Sk

1956

1856

1756

1656 W

VJ:JLJ:JL{H;}LJQ;I{/J

When did. Cl‘@n Huygens invent the Pendulum Clock.

¥z

All of these

&
VgL

Wave motion

TS ks

Radiation

Conduction

_ a.b'rdl«u‘tgé./‘}”fdﬂ.d) ufc'_ufd':m,v

transfer?

k=-Fx

x=—-Fx

F=—kx

—aK

. —e Jr ¥ L of

The foxmqlﬁ

ook’s Law is

30Hz-30kHz

25 Hz-25 kHz

20Hz—-20kHz

10Hz-10kH
<
o

N
c.uwd’o";/tfﬁ:bu’l’gjﬁ'gd;lrbuﬁ

@1 normal person audible frequency range for
ound wave lies between .

Wm™

The unit of intensity of Sound is gﬂ&!ﬁﬁ"f lJfCﬁf

+20cm

+15¢cm

/J‘luCBO cm s/ p-e20 cm‘,fﬁ/ﬁ/.ﬁn/yﬁ
-e’,»u.uwﬁ et

A converging mirror with a radius of 20 cm creates a real
image 30 cm from the mirror. What is the object distance.

sz/3

2R

\h
fl

-9_Ju.ynu~vnL(R)Z-;/JTufiusl(f)}ﬁfgf}
The correct relation between focal length ()
Radius of curvature (R) is

1oV

5V

05V

2y

J?CL&KLELJG/”(‘-,CJ:(CJB[. 10C sfl
-fnf/:g}’“/uVud:wLLvu!uw-c.L"/L/_fu

Five Joules of work is needed to shift 10 C of charge
from one place to another place. The potential
difference between places is

10

60 W

30w

14.5W

48W

Bt pEmS AL L e sy L12V
A i J25 A iU
What is the power rating of a lamp connected to
a 12 V Source when it carries 2.5 A?

1

OR

AND

NOR

NAND

:‘_'[D,_x ,;,t’nd’bu?/‘_fu@l)fc;-’ffu"

12

-
The logical operation performed by this gate is i:D—x

@;41033 1023 - 55000 (4)
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Part
Answer briefly any Five parts from the followings. §x2=10

Define Simple Harmonic motion.

Ifthe length of a simple pendulum is doubled, what will be the
change in its time period.

What is meant by Logic variables? AP kil by (iv)
Determine the power of lens, Ifits focal length is 10 m.

Sute Snell’s Law, write its formula,

Draw the symbol of NOT gate and also write its truth table.
NAND gate is the Reciprocal of AND gate. Discuss?

Answer briefly any Five parts from the followings.  5x2=10
‘What do you mean by the term intensity level of the sound Name its wnit.
What is difference between pitch and Quality of Sound.

- ‘ -
What is fax machine. <V Gw
Draw a diagram of three capacitors which are combined in parallel.
Define Electric field intensity and write down its SI unit.
Define the terms

+ {a) Information technology (b) Telecommunication

What is difference between RAM and ROM memories.
Answer briefly any Five parts from the followings.

O\

Define Resistance; And also write the name of i

Can Transformer work on Direct Current. /{\’\

Write two properties of Beta Particle../ Lo 1§ :J? Al i

What is the difference between atomic no and mass no.
Define Fission Reaction; Give also its equation.
Part i
Note: Attempt any Two Questions.

Define Thermionic emission and investigate the properties of electrons.

An object 10.0 cm in front of a convex mirror forms an image
5.0 cm behind the mirror. What is the focal length of the mirror,

Describe an activity to demonstrate the phenomenon of echo.
b. A point charge of +2 C is transferred from a point at potential

100 V to a point at potential 50 V. What would be the energy
supplied by the charge?

ssz;ﬁg\)@géda&'

I9x2=18
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Define Mutual Induction. /.y 7§ ok S
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What is meant by Nuclear transmutation? Give examples of JL 5 st B i S sty Ve o r LR
Alhpa, Beta and Gamma decay. J -/ :u‘-'l‘»

filament of the bulb. If the bulb is used § hours daily,

Kilowatt-hour consumed by the bulb in one month (30 days)

g
@/ 1034 - 1023 -s5000

An electric bulb is marked with 220 V, 100W. Find the resistance of the Zan

find the energy in

10100 W 220 V4 kS0 g
& LS i L fi 2 e
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Note:~ You have four choices for each objective type questionas A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question
otherwise the student will beresponsible for the situation. Use o

paper, on the both sides of the Answer Sheet
fink remover or white correcting fluid is not allowed

and fill bubbles accordingly,

(D) (C) (B) (A) QUESTIONS Q-1
W | s urt Fr -5 2]
Control unit CPU Memory Monitor | The brain of any Computer system is
Je basia Udss Bl ol uf/-.:f -w&faffed):“ufi.z’ﬁ,g,ﬁy 2
Insolids | Inbothaandb |  Inliquid Ingases | Longitudnal waves move faster in .
£180° 445° haf $iis Bty ST Bl S Hin gl 8| 5
at 180° at 45° Perpendicular | Horizontal | OScilation of electric and magnetic field in
electromagnetic waves is at an angle of
K UL;}J“" aUivbala | e Lo /’Jf P 1% /"’f -u*‘L-Gﬁ b GJ’[ J dﬂ; 4
Nf;g ofct;e Both froma Ultrasonics | Infra Sonics | The depth of water can be measuréd b o
- andb O
above
20 9.9 (8.2 (4.1 (,5/::(/06 xgﬁéch_J/);é?)'n.gl .5
20cm 9.9¢m 8.2cm 4.1cm The object - J//-ﬁ;&{EGLfS.S.ng
is 14 ve mirror. The image is 5.8 cm behind
the mirrot; is the focal length of the mirror?
GCIPJU:((:"" Jf_fuff&é J}‘[’[ J&}_ ﬁf/ﬂéLﬁJLJ.bﬁc}yu LZJL'JL?)JJUVLU&_J[ .6
Can'tbe Remains | Decreases | Increases\ (> cording to coulomb's law what ¥y 31y o
determined | Unchanged { happens to the attraction of two oppositely charged
,({\ objects as their distance of separation increases.
2910 A5 .‘J;:?Q‘S\B 0.5 uuf.:dfdl_‘g&‘.‘(, b/ rb’diﬁgl_f Jb Pf 61(5.._‘1;” 10} .7
10V 5V 2V 0.5V | Five(5)joules of work ¥ 5 yuend i
needed to shift 10 C of charge from one place to
another. The potential difference between the places is
36V 18V 9V 2V S Bae U Bns S OA L Fufne | g
What is the voltage across 60 resistor when 3A
of current passes through it?
VB s ) Lo s Folee Gxbrardbgl | o
& C—Z’ﬂ‘g ~ve c_é,/tgh/e Small )
Mugrotl Stationary Stationary charge The presence of magnetic field can be detected bya
compass —vecharge | +ve charge
& )):{ S ' .4 -df&d&l)"’&h’;‘gﬂcu.&ffc_.dijexﬂ .10
Dbt - Teacher Book From which of the following we get informations about
P everything.
Lo | i, & el el pe et 2ol | 11
Large data | Processed data Raw data Anydata | InComputer technology Information means.
7 P & Y ::D_x ey T e it | 12
‘ -
OR NAND NOR AND The logical opetation performed by this gate is -,:D’—-"

| ~ » 1035-10
@// 035 23
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Answer briefly any Five parts ﬁ"om the followmgs. 5x2=10 -Jf J =AlR /" Ziz éta.(jf LS n ..2/ Jis
What is meant by digitization? < Vet 27 Be3 i Define Simple Harmonic motion., ] S y > d/ kS r/l,f i
What is meant by damped oscillations? - e s ety i
Describe the types of reflection with diagram. -J_/ rt/@ﬁ.ﬂj&w&’J (15 ! J j_ﬂ’ s v
Find the time period and frequency of a simple pendutum UL /7 2 ekl J,,,:-f' %’H:E;ulz LJU L v
1.0'm long at a location where g = 10.0 ms *. -« g=100ms”

Define Snell's Law. Write its formula. N I RS S B FSow ELE i
Write the symbole and truth table of NOT gate. ...u.‘-’v NP sines§olot i
Differentiate between analogue electr(;nics and Digital Electronics. q/ okd/ uy»a:f 3 A 5 g_f( 3 /’gl_f Ut Lviil

Answer briefly any Five parts from the followings.  5x2=10 s g 4;.’. ..-,yz/"? Zizl égcéf eSSt 23 / Jr
What is the difference between Loudness and Pitch. -‘LJ}!{(J: éui u” k11 i
Calculate the Intensity level of Faintest audible sound. S CislCanse S8 i

State Coulomb'’s law.</ / uL_:u:"E'K.,J)((iv) Define Capaéitor and write it one use -é ._'l ﬁfl/ul-u_:/ -2 }7 d, ﬁ-‘-f it
Wi nlngiigeiisn v
O LA L T P i
Why optical Fibre is more useful tool for the communication process. %@/ ;';:/r‘u&)c,_./ 7 GJQ‘TU': ("'/ ﬁ:{ vii
I LLI L] i
Ny 4 &l?:étf_—..éf Lt ALy
LSS5y S S S e 5X T 1) S

Draw the electric field lines for two positive point charges.

Write the name of the components of computer Based information system.

What is the difference between Compact disk and floppy disk.
Answer briefly any Five parts from the followings. Ai;

Find the number of protons and neutrons in nuclide defin

Draw the circuit diagram of three resistors in s bination. -uf l‘r.('/y?_‘f Vs JJ}’/ nk éafﬁ:—-.’é Fy -4 |
Write down any two characteristics of ga ) rays. -u:‘-'i .:a_lfor”. n§ 3! if ZJV:P dii
What is difference between a cell and a battery. -q_J/;Lf sl $pm)E v
Define Transformer and write down its principleu:i Jrie U 02 vi State Joule'’s Law, -/ ot Ukwib¥Uz v
Define Nuclear Fusion write down its Equation. -u.'.’ﬁ thaJ J! muj/ 2 /." J i ,:b/ £ il
Can a Transformer operate on direct current, '§~Cﬁ/ (b’/'o.:r'f wf2 Y 12 i
Part 1I I >
Note: Attempt any Two Questions. 9x2=18 Jl7 ..-./Ll.zﬁ.-_fﬂir»_a.&j/:éi
5.a. Define Total Internal Reflection; with the help of diagram. Explain. ./ =obsdutessdpi /iy /s /4, B Sads s
b A simple Pendulum completes one vibration in Two Seconds Ji -LLt'/r J’I V42 Sec cf‘-/:’ l:u_(ld;l/:ﬁ-';vlfvg b
Calculate its length; when g=10 ms’ g=10 ms” f-uj /r(‘:!”' Ju J
6.a. Whatis the. importance of Acoustics? Explain it with Examples. ik /T 5 e S J dL;f Jﬂ .a.6
A point charge of +2C is transferred from a point at potential ety iy VJ}:‘{ 100V /2 o221y L+2c 4 b
;3(:}1:1 ct: ;g;:’mt at 50 V. What would be the energy supplied ” J@/i_&'-i'—t'k’ Y, f@&l;’ 34 J}:‘{,’ o
e m G S
7.a. Derive the relation for resistance ‘R’ and specific resistance ' it ol S JU Gbe R pudlayy 2.7
'p' of a wire of length ‘L’ and cross-sectional area ‘A’. S et b TV L S alyS 81

b. Carbon-14 has a half-life of 5730 years. How long will it take
for the quantity of carbon-14 in a sam;;lc to drop to one-eight 1
of the initial quantxty" BTl LL(gmf o s KA

/ 1036 - 1023 - 35000
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Note:~ You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1

iy | pliig | @ ST | g/ | SBnd e ciy ) ST e Lo p B L ]

Atthe focal | ¥oEeb 4 S e Sy |
Hetwer e Outbeyond | An objectis placed at the centre of curvature of a

centre of At the centre

curvature and
the focal point

point the centre of | concave mirror. The image produced by the mirror is

& 3V Jﬁf)}/-‘-?r 2

of curvature curvature | located.

4 5 2 3 i 3

&5 el iy %
Lire 2 pS e 80
12 Q 8§Q 4 Q) 2Q The combined r nce of two identical resistors
' connge inseries is 8 £2. Their combined
resj arallel arrangement will be
528 ) A | Fley Q§9 st el Sl Sa k2| 4
Electrons Protons Negative ions | Positive iofis }The particles emitted from a hot cathode surface are
i 3 g

Joule m Hz Q g{@; The S.I unitofamplitudeis -4y S.I Wi 5

0 0
bda | 2l ge el U - SFICT | ¢

Sl RECY Sk
. . T stands fi
Indian Information International Ll L
Computer | and Computer | Communication Computer
Technology | Technology Technology Technology
; L ndsA K104 |
B ik bR ien 1024 Kilobytes are equal to .
. o u [ 23577 2
Juzaxiot | Jurixio”® | Juraxio’ | Jerixiol IO QGUESL |
8] 10 9 8
TAX10 years | 7.1X10 'years | 7.1X10 years | 7.1X10" years The halflife on?)gU b
uf.f}éfc‘j‘.'ul UPssBusiA L0683 Gﬂéb‘?i 3 I >
‘Ir\/le:f: gxtrc:ixe *("d” =~ KB tﬂf/vfﬁ A 2
None ofthese | Both A and B position position Kinetic energy of mass spring system is maximum at
gAY i | TrEAs | Frdirads ceJeSmntbauik | 1o
Linear Damped Vibratory | Simple harmonic )
motion motion motion motion The example of shock absorber of the vehicles are.
Sigshapi _,@—_C‘, ) J‘jjiﬁpt‘ a3 Llin ' ?g—ﬁ;%-fgféfei—bé—ﬁ‘ X3 | 1y
Ak &U,JJ;{’ RO Al By changd )
By infrared By By vibration | Y “"2"8"8 | How does sound travel from its source to your ear.
electromagnetic in wires or air pressure
WEYES Wave strings P

U:é:‘:’\—;.’.{ ffc!}{ﬂ;é‘_,{ ‘-—/”L/ U:F""S’Jy _q_JTu#u/x:aQ%dﬁuﬂiu’:ﬁ/JﬂJ} 12
Denser Fla L ek Rare :

: : ’ Total internal reflection entire light is reflected back
‘ Medium with TR . medium g
Medium smaller ik
refractive index medium D

1021 -1022 - 65000 (4)
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Answer briefly any Five parts from the followings.

5x2=10

Define Kilowatt hour, write formula to convert Electrical energy to

kilowatt hour.

Inorder to measure current in a circuit why ammeter is always

connected in series?

How many watt-hour are there in 1000 Joules?
State Lenz’s law.
What is difference between step~up and step~down transformer?

Define Fission Reaction and write its equation.

Write the G-decay process by equation through radium

226R

Write difference between Atomic number and mass number.

Answer briefly any Five parts from the followings.

Differentiate between loudness and quality of sound.

5x%2=10

What is the audible frequency range of sound for a normal human ear.

Write two uses of ultrasound in the field of medical.

Differentiate between fixed capacitor and variable capacitor.

Wirite two factors which affect the ability of a capacitor to store charge.

Write the name of SI unit of capacitance and define it.

Interms of computer what is meant by hardware and software.

Define information and communication technology.

Distinguish mechanical and electromagnetic we
Define the term transverse waves. Give ex
How can the refractive index find, wri

Describe the principal focus of a

@%s@

Answer briefly any Five parts from the following@ =10

A

lens by ray diagram.

Differenciate the types of spherical mirror with diagram.

Write the two uses of logic gates.

NAND gate is the reciprocal of AND gate, Discuss.

Define the term thermionic emission.

5.a.

6.a.

Note: Attempt any Two Questions.

What is meant by e.m.f ? Explain with the help of diagram that

9x2=18

how we can measure potential difference in a circuit?

Carbon-14 has a half life of 5730 years. How long will it take for the quantity

of carbon-14 in a sample to drop to one-eight of the initial quantity.

Explain the electrostatic Induction with the help of an activity

ofplastic and aluminum rod make a lable diagram.

A doctor counts 72 heart beats in 1 min. Calculate the

frequency and period of the heart beats.

. Explain the image formation in convex lens with the help of four figures

143
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The time period of simple pendulum is 2 sec. What will be its length u‘f JU/_, Lidu e M2 (,' ¢ b’f:b, ml L

on the earth? What will be its length on the moon? If

g, = §6"— where g = 10ms™
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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
;g;J T y,,u'f: ik i u’ y -9.dl"'/«f Jg,‘)’:":( 1
Sound waves X-rays Radio waves | Lightwaves | Example of mechanical waves is
i1 gl Sy & O ES O Lo antibe 2§ P e Pt | 5
Loudness ' Intensity Quality Pitch The characteristics of sound by which loud and faint
sounds can be distinguished is
R R ) -%Jn,;ﬁz“ﬁg_‘i;// 3
=% | 773 s I Kl f ﬁm
or mirrors focal length 15
107%°c 10°C 10°C 107C 3 @\O - bnapdH B | 4
O{np(ni%;ro c%ﬁlornb charge is equal to
x| | xes | e B bl L FeSe S| s
Thermometer | Galvanometer | Voltmeter 0hm€3§}€?> The'instrument which is used to measure the current is
e | aady | sk g VAT Y It
All of these Potential Chenim JMechenicaI D.€. motor changes electrical energy in to
energy ene energy
B=0s9A=1 | B=1sA=0 WA:O B=1.siA=1 ﬁd&x/,‘l'JﬁX;nX:A.Bfl i
Ais'V'andBis'0' | AisO'andBisT’ | AorBis‘0’ | AandBare‘l’ IfX=ABtheg}( is ‘1" when
FIH | R | Ee | ke e FHES L | 8
External Extra mail Electronic | Emergency | what does the teith e-mail stands for?
mail mail mail -
Ardt | 08635y | At | a0 | e en BRI AL s GRS | o
Atomicmass | Number of Atomic Number of Isotopes are atoms of the same element with different
number proton number electrons
..c.JLJan L ;-é.'./iu:! ﬁ/){/ =L?U’Jis‘ff .10
V=A vA=f fA=v vi= 4 S i o E
The relation between v, fand A ofa wave is
PR Iy S 2 IR eSS iy | 1
Water waves | Radiowaves | Lightwaves | Soundwaves | Which is the example of a Longitudinal Waves.
e ik | ,,ufgd};u g ;,KJI,;J, é,g’/,ﬂé’ldf J -4.8:1”4_(?'@3?;)!; /{ 12
Sx Sl é:{.’ Real,inverted | Image formed by a camera is
Real,inverted |  Virtual, Virtual, and
and magnified tﬁ;gg;tﬁa:: 1;‘::?:::: : diminshed

1023 -1022-55000 (1)




5.a.

6.a.
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Answer briefly any Five parts from the followings. 5%2=10 .Q/ j VY 4 /‘! LI?I&L;_J)/ e LSitn 24 Jf/

State Ohm’s law and sketch its diagram. ./_,bfflulu/..u/"g;uﬁéﬂt @D Prove that 1kWh =3.6 M} é./t'
G e AT et L EE100405C L)

[f 0.5 C charge passes through a wire in 10s, then calculate the current.

What is meant by term strength of magnetic field. ~& /.l_fc.,(f . ,t_l,/_,@.‘;
State Faraday's Law of electromagnetic induction. -é Jk / LY L‘ff i"u@? 3 /‘_0 1L ﬁ
What do you understand by the term “mutual induction” S e Lg}gf TS T
What is meant by the term isotopes write the isotopes of'hydrogen. ‘ _{‘f ...J_rj TLS 114 e /U’ c_,_,;//f
Define the term natural radioactivity. Write the names of radiations. _;2{ tL Ak Y Nt 2 s /

A
il
v
v
vi

.vii

Jviil

Answer briefly any Five parts from the followings. ~ 5%2=10 ..u‘/ £ f A A2 L7 ét eldfetdits 340y

How can some whales communicate hundreds kilometres away? ?ujdc / d‘//fﬁef,vf J ﬁ:,sgu;/& 4“{ Jf j:
Write the audible frequency range of Bats and Mice. *U:J S £ T s S8 g gk

Why the voice of women is more shrill than that of men? ?:‘:.dnuzf.{/ga#&i5L/Ju»/:»'5L/Ju?/f

%‘:Lﬁa—;nf&/‘gi.@

How can you avoid explosions due to static electricity?

Draw electric field lines for two negative point charges. Q\
& Q) >
N

What is the difference between bit and byte? ?c‘_g;‘/‘ggf(Bytc)_‘x’Lul(Bit)J/,

Write two services ofintemct,._u‘f/__/:gty',; J_*,_;/"l(viii) V&\Q(z?}rowsm ? Give their two examples (/2 V'Z'L», Suity r*l/ 18

Answer briefly any Five parts from the followings. @ .4_[/ P / oM /"' iz étz_é:f LSt -4 /‘ Jir
O

_&Juuvd/w/,:.é.g/’gfu/b Lok
-:"_:l/gcid/‘ﬂlu/

fon. el LS meEas PSRt
electronics. , -—JJ/"U:JQ/"Q'J-'&M’-//UQ‘

State Hooke's law and write its equation.

What is meant by Crest and Trough?
Define damped Oscillation and write its

Differentiate between analogue and di

Draw a symbolic diagram for NOR gate and Write its truth table. -Z—UJ‘;JU"KJUMZ:l:;(’fl_r'if(}ylm;.‘/fNOR
State Snell’s Law and write its formula. -Jfﬁ et 194 ulé - ]7 g; oL £u‘3/
Define principle axis and focal length. -Zi:.gf/"’d'é"ﬁfgfb:l/flg){/_’
What is the difference between Convex and Concave mirrors. "c. J/ U/uV/: L. /u,_f :'ful 7 /ré‘
Part 11 R
Note: Attempt any Two Questions. 9x2=18 -d[‘/’ utliﬁumr»c,&f o
Define an electromagnet. Make the Relay switch circuit 141 St b:(l/ftb s /C Cr & -uf - U( =Ly /al

and discuss the Electromagnet role in this case. +2 il Ses £ /l:/ & pikey /ﬂ, oS!
Half life of a radioactive element is 10 minutes. If the initial ~1+1+ dl,vi A e 10 JUJL J..Jl :f;’,u.ff

count rate is 368 counts per minute, Find the time by which, 2+ S J/ (:"’ .J;m’f../dg/‘ $6368. 200076
count rate reaches 23 counts per minutes. :_VC’ y ../dgf' 162350056

Indicate two dangers in use of L.C.T in Society. Write two  2+2 JVC—U' ZJ;UJ‘,’I}’;:Ll C. T‘ﬂdt/r

steps to avoid these dangers. Y 'y /uu Dl
Two capacitors of capacitances 644 and 12 piF are connected in S 6uF 2 12uF 7 2 UF ‘S P i
parallel with a 12V battery. Find the equivalent capacitance of f u’o«/ Sl sz_q_"t/uzgd ﬁJ 12Ve & )J' Iz
combination Also find the potential difference across each capacitor. u/ (J"J A S ):Jﬁ’ '.U.Jl AL f-f-r AL

7.a. How ro find the magnification of compound microscope by ray diagram explain it? 143 IV /(:L” OASsd L,i,.-d/.a :; uM e_.u(! rf/ Lses
b. A simple pendulum completes one vibration in two seconds. 5 J Jlee /. JI u’ 2s¢ u" = Al .fl & H;y b .ﬁ

Calculate its length when g = 10ms™ =10ms ,G-u/ Ry

1024 - 1022 - 55000
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otherwisc the student witl be

B, which is printed on this gueation paper, on the bot
responsible for the situation. Use of ink remover o white correcting fluid is not allowed
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and D. The choice, which you think, is correct; fill that circle in

that

I sides of the Answer Sheet and {ill bubbles accordingly,

o | (€ (8) (A) QUESTIONS Q-1
P / piw 5t 2 okt s alere Lodsledt : % |
¢ bl ¢ bnftln | SFO/S Vebortln | L b’t/fwﬂw,/c-lgbflﬁuwdfnfﬂquf r
’ T — ¢ Be increased | If the mass ofthe bob of a pendulumis  -bZ b
¢ Jasieie 3¢ decreas V _ :
[Ipsliamihien bt faelai ol 4','/" hy a fuctor of | increased by a factor of 3, The period of the
by @ factor of D E e Remaing the 7 : i :
4 2 eyt 2 pendulam's motion will
e el s i : ——
sl s dhs 38 ss Sfskst e Jed s | 2
Water waves | Radio waves | Light waves | Sound waves | Which is an example ol lpppitudinal wave?
BNLL o] i s B
. Z L z 4 . - .
J,v;/:ulu’,g— J— JJ)](,‘j] (Jf-u)l(f'j_/ JJ:,/;JJI()JI @Q@IJ“JU}/VQ‘},{’J/ 3
Uprightand | Inverted and | Uprightand | Inverted and Which type of i “ formed by a Convex Lens on
Virtual real reul Virtual a sereen? N
V\«@)
_u:rgmgf U | condVv | exstety | alSotr % ?.;.u;)raﬁfzjgu( SIFE_A | 4
2y 7 M L7 7 dg 2 Zig ot Z A1y oulomb’s law is valid for the charges
Stationary Stationary | Moving and | Moving a do hich arc
and point and larpe non—point point chi
chirpes size churpes charpes Al s ———— I || T
L4 )J?Lf’/fd/’/(?ﬁﬁx 2 f L6 QL .5
£ - g -
36V a9V lt@ What 15 the voltage across ~ t‘f.@m;_a._.ii/'l
) I J—— % a 6 Q) resistor when 3A of current passes through it
S/ draf'Jr b et Siie sl s s Ut a8 G- i 4
& e | Ml e
Will be zero | Remains the | Decreases i -'*U‘@W}mrff:t?f~i£}§fiﬁ?mp.1§ﬁ$d :Lf/”d”é—/tjj-.’_.j‘ﬂ’i—lf
R A el
| samc pcrpGﬁdlCulﬁrtwj ﬁu;}fﬂgh:ld inereases, e lorce on wire,
<& s
B=1lA=] 1=0LA=0 | B=luslA=] B3=0nIA=0 S o Q;;;';TJJ,[’;;' 7
A=10RB=1 | A=0ORB=0 | A=landB=1 | A=0and B=0 | The output of a NAND gate is 0 when
. 3 ¢ - % . % - -~
L B sk iy ol s S vt A e s e biions | &
_ g Cd s i Ry
itirmot Computer ‘Teucher ok (o 1Awhl(,h ofthe to!loy\ ing we can get information
almost about everything
s o s 5 5.5 : AT s % r . —
Lf-)__/f/,:‘b}_’_' (})_f—-f’)’l‘d L'JJ)f/:b/}: (f‘/:b}: ?%VL_?EJ/JJ’AJ.“: E/J"J f(f./ldbd_lc._(,pzl"/ul(wr 9
Nuclear Nuclear Nuclear Ener i § F S
s S R H sles ‘nergy coming from the Sun and Stars is supposed
Prangmutation | Radioactivity fusion fission to bedhie resultol’: P
U I £, ;{ s
1.36 1.33 1.00 1.31 Refractive index of ice is. e JLlm B | .10
eond8S | HIHS | <enf | <dba i oler LI o A s |
e 27 | Rermninste. 5 What would happen to the | $
None of(j./ Remainsbe-% | Decreases . s appehio he loudness of sound
them unchanged with increase its frequency.
-~ : ¥ /' . >
Jeii i P Ermdbne W3 A a8 | 12
16107197 | 26x10°°5 | 3.6 x 101 | 6.7 x 10 Electron voltisalso aunitof enegry < Urisliccbr
used i atomic and Nuclear Physies which is equal to.
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Answer bricfly any Five parts from the followings.
Define restoring f(.)n‘cc,_(,[/‘_,é)/';(ﬁj,:j\.&///;’d/ (ii)

U the time period ol Simple Pendutum is 1.99s. lind its fregquency.

What is meant by Intensity of Sound?

what is meant by audible [requency range?

Define refractive index. o J/’Ju’c,u'n/u (vi)

Deseribe the sign convention of focal lenpth for Lens,
Answer briefly any Five parts from the followings.

Deline cleetric power and wrile its unil.

State Joule’s Law and write its formula.

Define electromotive force and write its unit.

What is meant by mutual Induction. ?c,;t/tfc_,u’(,ud"f (v)

Decfine OR gate and write its truth table.

Write the names of logic operations.

Draw a symbolic diagram for NAND gate and write its truth table.
Answer briefly any Five parts from the followings. 5%2=

Definc clectric field intensity and write its unit.

Deline capacitance and write its unit.

Write two uses of capacitors.

How are light signals sent through optical fibres?

Define internet and write two services of inlernct.

What are browsers? Give their two examples.

Note: Attempt any Two Questions.
Deline simple Hanmonic Motion, Prove that Motion ol Miss
attached to a spring is simplc harmonic motion. Also write down its
Thne period equation
A point charge of +2C is transferred from a point at potential
100 V to a point al potential 50 V. What would be the encrgy
supplicd by the charpe?

Define clectromagnetic induction and explain it with example.

An object 30 em tall is located 10.5 cm from a concave mirror with
focal fength 16 em Find .
(i) Where is the imape loeated (i) How highis it?

What is Nuclear Transmutation? Explain Beta Decay with examples

A earrent ol 3mA is Hlowing through a wire for I minate. What is the

charpe flowing through the wire.

5%2=10

5x%2=10

9x2=18
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Cel e €l SF
Define Convex mirmor. U ..J-’/’JJ/’JCJJ
Sl s p A

Define wave motion.

,u,wu

(i)
(iii)
Giv)
%)

(vi)

(Vlll)

Ny /’uwﬁf Lz §fethitn 3 A

sz i S
. GJy‘JuaLjif;l’x‘fvd/’Ju/b Lz
-u?” LS E J/JJ;!MJ/O:
Definc Lenz's Law. -&.J/" (,(u;lb .J_/,/
LA A pmE s e Tor

ch_(tf//fju
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s imet v S e
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S eh S PSS L

LSS S ety S P8 Er A
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/.f_@/’b&fl‘z/ J!L/uu J./’PERCODEJ)J"/)/ Jl/u‘t...,'l)’lu)‘u[.d(ll? b:’Jr“’bhuliu;ﬁu’u/r"J&,//f..,ﬂ._//: u:/l)ub

..a.,u/dl“’fb/»’b,u’l,u!"fdl- (fa (L\_/Jlbd/"z),"’uu"..,u“’g(o (_//(

Notei- You have four choices for each objective lype questionas A, B, C
front of that question number. Use marker or pen to fil

question, Write PAPER CODE, which iy printed on this ¢guestion paper, an the hoth sides ol the Answe

otherwise the student will de responsible tor the situation. Use ol ink remover or white correcting Nuid is not allowed

and D. The choice, which you think, is correct; fill that cirele in
{ the circles. Cutting or filling two or more cireles will result in zero mark in that

¥ Sheet and (il bubbles accardingly,
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QUESTIONS

Q-1

—— > . I s
e G BB | _wGa K | ekGaEy s Ui 0L g DS
Absorb Jﬂ . R‘l'lc‘]“c dl/f Absorb k/(f Release 5 | Whena heavy nucleus splits into two lighter neeled,
chemical B nuclear encrpy | nuclearenerpy |(he process would
cncrgy cnergy ]
b = . . W ‘,.r' ! 5 WL
Ui AL L)”J"/LL/"/ u"()C"JLI‘/ AU _q_dr_/wﬁ Jz_- il |2
I both & and |1y peparticle | In Beparticle | Inu=particle - Has less peiCtiling power,
3 purticie
M b g i ‘ o’ -v' ._J’
| jf.f{'h_‘/JH ) ) ;-’_,"/l oAy ‘ @ **;-&:-”'du U 4
| Volt-ampere Farad Ampere Volt +'The uhity ofcapacitmyreiie
=
| 0.60 Hz 0.50 Hz 0.40 Hz 0.30Hz fo J’/’)’J"»ﬁ T=1. 99(’L‘f 4
L sl }2\&34 g ﬁ«.qut.n(_y is
—
| EEy 320 Y L= L s
‘ Sume .
‘ wavelenglh Sine _Same Same speed i
| amplitude frequency
r i o - y -
| s b #dys L e f/&}) St o) Faren 30T | 6
Amplitude | Wavelength Period )’{‘@i@xcy The toudness of sound is more closely related to its
- Ch
S sslte s 2 olle s §l8 itdi §a usith : I
L'/'. = ¢ .j = W @ Which type -.;ﬁméruu i c..n(, J(Jf/u’/’ 7
Uprightand | Uprightand | Inverte Inverted and 4 o ,
sl pial] Gietud vl of image is formed by a convex Iens on a screen?
e
v.u—_»:%f,,/ Lodbmdoll | fopncfis? & | i S S8
u/U U/ o I . . >
. S Lj-’d/d s Llectric ficld lines
Cross cach other Crass cach otlier
in the region of i thie région of | Nevercross cach | Always CrOss
weak field . : :
el L swenghield | eter | cachother | T ——— .
m_;/_, sa c_g“wc_i ve g2V Sad L |9
S 60 W Sy 30W Ly 14.5 W s A8 W What is the power rating of'a lamp Jr(,/ \}//;Lupl
L connccted toa 12 'V source when it carrics 2.5 A?
Wy . P R o b 7 3
bf&‘_)l) d/)- J(j/l/ (ORI »._‘/:/';.‘./_:,J/J' L = Pavs ey B N
J’P’JUJ/“’ IU"(}/L)U( <l et The step up transformer
LK " d Y Inerenses the | Inereasen the
“A'h fuss L% B | Gt sl
e X gl input voltage | oulput current
turns in llllL s in the I & I
sceondary i
ool primary ‘
JrSSS L=t A=t | Zn=1salA=0 | 70" BalA wr el o x=A.1 | 1
Nonc ofthese | A=landB=t | A=OandB=l | AundBare 0" X=A.3 then X=1 when
oy };;;’( P — o doLJL"J -,..../., .Lﬂ/’ .’i.udi/;.d- SPPPLE 12
Lternel Computer Teacher Book From which of the following can get ,u‘lu‘“l;

T 1023-1021a~55000 (4)
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Amnswer briefly any Five parts from the followings. 5x2=10 _u_’/‘(,/‘.‘.og!z#?c’:llﬂé&c,(jfc,ui'J_j'CwJ ...2/.';(Jf)’
Differentiate between Mechanical waves and Electromagnetic waves., ~(J:/L')L-.J/;(;J_L{‘/JLJ{J;..@?)}QIJ:U{’)MS_; )
Describe how the sound is pl'oduccd’.L4.-[5:714,;(,)’”’3—'?\/,!/'4 S Gid Define restoring Force. -—-L{/‘u{"_j jJJJu; L, Gn
Calealate the frequency ofsowmd wave ol'specd slv=340ms ™t J”u_’/r:b‘(f':(‘/ Ji‘ﬂf (iv)

340 s~ and wavelength 0.5 m. -4 = 0.5 771
Differentiate between Principal Axis and Principal focus. wu/uuu/uvm. v )’J’/uf/l (v)
What is mirror formula? Write its cquation. 'y - ;.,f;L»d;i(‘ o JJ}*‘J“J/ (vi)
Define centre of curvature of mirror., _,.: d/ wd AT L i (vii)
Dilferentiate between concave mirror and convex mirror, ..L{/ngj/’u“l/'J)LJ/’J"; Jslj/::':', (viii)
Answer briefly any Five ports from the followinps,  5%x2=10 qug\/’_-;y!_ﬁ/f—*’.itfmég .:.-chw St it ..3/:‘:()1:"
Wiile tuth table for NOI gate, 2547 M 23082 L TNOR (i) State Gl nn'v 7 LEEYLIGE €Y
Write cquntion Tor cquivalent resistance for parallel combination of resistors. _L_ﬂ / & uh{. J Lf; "'J)I/'(u.... &, Py ( iii)
Deline potential dilterence and write its unit. @\ J’J:JC_J/)JL/J/’JJ Giv)

State lenz’s law. B =Ny AT K/J )
.-i._ (’:L’”:,fJ,&%’-.,C;.“:"uug G (vi)
in solenoid. @ uif}d}“!b/u}f

Write down Boolean expression and circuit diagram for OR operation. %Szﬂ.bﬂ;l.bgj/uhk //'_,JJL/JJ:‘ ,qud/ A (viD)

Explim right hand grip rule to find the dicection of magnetic ficld

Explain dipital ¢lectranics with the help of its two uses. ""- - ‘L&‘J/(m (JL-“!:)JJ(:/U J"{; (viii)
Answer briefly any Five parts from the followings, 10 _u‘/ 2 5= el /" .f.!]ff;t.:;.(}f Y u")(,u 44

9 1) Define Llectrostatic Induction |, 2 ‘..,ai/"d/u’c«r_ﬂwsfol (i)
What is the unit of capacitance? Define it. _ff,_f..{cj/"(_}u’f‘.'ﬁ;" ;/{'bu’:‘o’:{ Gii)
Differentiate between Hardware and Softwaré ~:‘;J/_l,fui'/’:1 .:JLu;lj:JﬁJQ (iv)
; N QS‘G
Write down the name of four web Brows i

v L sistirsde (Vi) Write down two services of Internet. @ =l ez £1(v)

Write the names of two diclectric, L[//y;:(t..f:wf A

efine Atomic Number with example, HJ//./_.JJU/..;://‘.’.J/‘_‘(W (vii)

Write two uses of Radio isotopes. ‘ S0 S AT vk (i)
J“lxl ~~~~~~~~~~~~~~~~ jl [JJJ ~~~~~~~~~~~~~~~ st

Notet Attempt any Two Questions. 9%x2=18 -u’f//ul.l?«f.wwr:;c_,d: %

*cfilu?uac.gjyb(f__wnl}‘\fﬁ)[/{u'l J/_,U/’L,Ml, T 1) 25
Define Intensity of sound. What is its relation with Loudness of Sound, Explatn it.
(IpF = 1078 F) By /ed g ad Jitnitbisin e o 2 ove s Fu il ol Lt Jﬁpl LRIV ()
Three capacitors with capacitances of 3.0pF, 4.0 and 5.( JuF arc arranged in series combination to a be iery of Gy whuc > IpF =107 SF Find.
The total capacitance of series combination u’ u d;l/@,(u?// (D

The voltage across cach cape 1(:11()1(, 333 }’(‘.ﬁ/’ - G The quantity ol charpe across cach L.lpd(,llulj[,b/’JU/l;n//' ~ G

Define NAND gate, Fixplain its use in bouse g safety alarm or JL"’I ¢ luu((jrll/b/) HJ ._/fg//u J_,.__f : (6
burpiar alarm. -L/// >y J
Anobjeet 30 em tall is located 10.5 em from a concave mirror Jz//f =l f.lnb.f. 10.5 CNa ( L/’)l30 cm..f! (b)
with focal length 16 em. Where is the image located? “d/c_.ubff:l;’fl 6 cm w‘f‘U’;’

What is nuclear lission? Explain with the hielp ofan example. w._:;_, P ) JJV(‘C..JI/LJ c:,_u’f r (2)7
{two resistors of 6 K€ and 4 KQ are connected in series ;wa,‘;J,) 2. cdﬁJIO \,”/u£4 KOM6 KOS ()
icross a 10V battery then find the equivalent resistance of the s 7
ombination and potential difference across cach ol the A——r) s k}" Lo BTV rt e o
CSISLaNces.

1024 - 1021aLr — 55000
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fill that circle in front of that guestion number.

will result in zero mark in that quest
sides of the Answer Sheet

ion. Write
and fill bubbles accordingly, otherwise the student wi

’L:’uf:&!!’d/y

type question as A, B, C and
Use marker or pen to fill the cir

PAPER CODE, which is printed on this question paper, on the
li be responsibie for the situation.

Y AP T e { <) 1020

REL i

(1 "g""\ J‘

) # T L i (: /'/‘K"' e 2y Ve d
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D. The choice which you think is correct;
cles. Cutting or filling two or more circles

(D est Sik8 (53~ WA

e 1520

both

Use of ink remover or white correcting fluid is not allowed
(D} (C) (B) {A) QUESTIONS Q-1
iy Fge g N AN T PR AN &V B
Boiling Evaporation Conduction Thermionic | The process by which electrons are emitted
emission  |by a hot metal surface is known as
e 376 G} hry E3est - (At Gt ik | 2
Any data Raw data | Processed data; Largedata |[In computer inglogy informaticn means
- & . ; % NJ ;
2.:_/5&: uyj,‘.g: Lc)i‘ﬁﬁfé ,ﬂJ&L;—[ Z-U’g'dlé‘{ %@u" e/ d)laj.u'[,ufuf&,y 3
Nuclear fission | Nuclear 2. |Burningof < Chemical &/} %ﬁa‘é f energy by the Sun is due to
Fusion gases reacti dﬂ
i ey N - . " s &
Eg;‘: 5 (V5 ﬁg/ @ dn s 4.9.”:‘7(5/;:.;4/0{;(154,&.)_5?;# 4
&\ wave is independent of the others.
- “ - .
S J# o} K e FSIEGHIs| B
Chemical Thermal chanical Electrical | Which form of energy is sound?
sl | qanl B | cadon | 4 EAL Setng SAANFELTTAR| 6
The object The image | The spead of The focal | The index of refraction depends on
distance distance light length
- 'El*'l:{:‘f.;ﬁ;;C'lj..)( 7
133 2.42 2.21 166 g-uf-Ae /b raile
Refractive index of Cubic Zirconia is
| - - - e
v ov 0 - e deSLpopsbutuT | B
Y 4 Capacitance is defined as
£ /::' €L s A - by § g,':’:u 9
Farad Ohm Volt Ampere The unit of resistance is
R I ~ P il Lo
V=IR V =mR Vo V= - S doiL () 10
1 R Mathematica! form of Ohm's law is
Y L =10, | N=tE | a0, in10a bk Lpwish| 11
10 10 The turn ratios of a transformer is 10. It means
r.-—. ——
X=4.B | x=A+B | X=A-B X=A+B |Equation of AND operation ise =i oy 22! | 12

1081 1020. se000  (4)
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Part -- ds' i -
Answer briefly any Five parts from the followmgs - 5x2=10 -J/{/‘.AL?/"Z.M éibd/&gﬁ\).‘ Lr -2
How damping progressively reduces the magnitude of oscillation? 42! r o/ /c. ok i ,:,'i g 5 o _f«f. (i)

b L‘Mf;.,u ..c r.A_J,,,LV..' (ii)

Find the time period of a simple pendulum of 1.0m long at ,", [P Y1 1% bl ~LJ L) (i)
g = 10 ms’ o

-,.‘..w'_,l;' £ R (iv)

Write any two important features of simpie harmonic motion.

fi

a location where g = 10 ms™

What do you mean by the term intensity of sound?

Define pitch of sound. How does it vary with frequency? & orJ,«szm_ :‘/u/’v ol J/‘d ESmT v

Write any two uses of ultrasound in medicine. //..,Hbvf'fm:, S At J (vi)

What is meant by the term nearsightedness? How can this defect be corrected? - vﬁb b mlAS f Vi alp if = /"’.,/, / (vii)

What is meant by Critical angle? o abp u”:_ JE K”f {viii)
Answer briefly any Five parts from the followings:- 5x2=10 u/}f.,w/”éfyr ét o J:(c.. S J’ s -3

Define electric field. Write its SI unit? S foysigtg S /J W )

What is meant by electrostatic Induction? fe izl Ve f bt s, P (ii)

A current of 3 mA is flowing through a wire for one minute. s M B S 3mAL s Lia UL A okl (i)
..(‘_,Lu/’ u/la

it iSSP oo A At (iv)
Q.r d"u J"tc. & M2 (V)

What is the charge flowing through the wire.
Differentiate between direct current and alternating current? -

How Jewellers can tell if a diamond is a reai or a fake one? Uy :
What is meant by Solenoid? %O feilry Ve 50y (vi)
What is a transformer? On what principle it works? %\%} Ve btr rb/ Jl J}NJF/ e "fv //bw/ (vit)

i’\_)b J! b’ﬂd’ LK (vm)
x2=10 -y Sgfein L2 & c.éf:.uw;zw -4
Define thermionic emission. _J""Jj’d/ Sk s ()
Jb-faﬂkgf_fxt (iii)
-u..“’g" »wd/}»gb erw_.uﬁ 2 A (iv)
gl e G2 S Ay (V)
I 2 Te WL Py (vi)
~& 7k Ve JVJ.’::{‘;,U_.' (vii)
Ay S5k E il

State the Fleming's left hand Rule?
Answer briefly any Five parts from the followings
Define electronics? J f ...v/“J @
Draw the symbol of NOR gate.
Write two main services used on the d
What is meant by Primary me
Write any two isotopes of hyd
VWhat is meant by radioactive elements.

Define natural radioactivity. b
Part . 11 [ - &

Note: Attempt any two guestions. 9x2=18 -Jf/fuk.li’ﬁuwm:c,df -
Explain refraction of waves with reference to ripple tank experiment (A4 -Z. .,»Lm d’ u" /J U m;.uu- f . &, , O)-5
A ray of light enters from air into glass. The angle of incidence is  ( s S e bl Gl e e 55 o)
30° If the refractive index of glass is 1.52, then find the angle of ¥ 152 -.»lr* 2K J;h’/ w30 u" y '..Jl

refraction 'r. ,r;.vu £ 5,7 £

What is a fuse? Write three safety measure that should be taken (44 o Syfen Sl J‘ J J"r" ' i-c_ um 0).6

while using the fuses in household electrical circuit. A

The force of repulsion between two !dentical positive charges is 0.8 N, ( A8 Zipe2s 08 N7 u’; Sy Gl kik &2 L3 (u)
When the charges are 0.1 m apart. Find the value of each charge. 2 ,'}V/w\; Cies yusd L L L i £il 0.1

What is cathode ray oscilloscope? Explain its different parts. (£4) /=l Jur? SHEI pEL ‘,ﬁnrw ,/ 0.7
Ashgs from a campﬁ‘re deep in a‘c_ave show carbon-14 (49 & 0 18- K (Ashes) 4185 L6 L ()
activity of only one eighth the activity of fresh wood. How - S :;: ¢ # J’E/bc‘- EI; Bl W o 5t

long ago was that campfire made.

1082-1020- 58000
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(D) (C) (B) (A) QUESTIONS Q-1
,:.'."!' U <y JJ/D/ ,y_’;é g -< &..) g}r{ﬁ’."’(( 1
Monitor Memory Control Unit CPU The brain of any computer is
L'/r_'.,(:ﬁ...l/’ LS ey 2y 8 e J:/ vé‘_"b; uut-« Q‘f 2
Calculating Gathering Arranging Manipulating | Which of the following is not processing
AL AT s | e (520 e e E P LAl st s 23T 3
Atomic Mass number | Number of Number of |isotopes are the atoms of same eiement with
number neutrons electrons  |different (O,
= b - .‘7 <4/ »
2F F 199 gy { F MU g 4
4F A — = . ’ S - .
2 Jeir §8 spring system. -« S =d $ns
’ -y mMass m reaches at mean position, the
fiEgnitude of restoring force become.
3@33'\;}!}7 (:"‘ig,()‘)f égu()i:l' g" e &gJTJin'z 5
Wavelength of | Intensity of Speed of ncy of |Wm? is the SI unit of
sound sound sound sound
N salyf 4 em )4 ul K
Fs E fe If f=R - d"l..w»u_l(ué,f-r/(q Y eksn! ,QUV,’ 6
T4 3 2 i The correct relation between the focal length
and radius of curvature is
2 L& ey £ - ! ” o = ST
302 L5 N &) 72, ¢Sl atin SFutin 2| 7
: : In refraction, which of the quantity change
| f t F ) :
Amplitude Colour of ligh requency Waveiength with the change in the spead of ight.
Voit &k Ohm A |Ampere 4% Farad :2 luc'is equal to e dC| 8
¢¥ lf*-""}.’ P b g 3)’ JL-:*"{_ AL s «b J:‘?;‘ S ol | 9
Copper Aluminium Tungsten Silver Which metal is used as the filament of an
electric bulb?
WAL S An0gsd h10.7| 10
[ ; f ‘ f“.‘.’:"'. '6 i
1000 m A 100 m A 10mA 1TmA it A
I a battery of 10 volt is connected across a
resistance of 10 ohm. The current flowing
through that resistance is
/jy”' o g J - S L i ;;.25/,‘/”-\;’:;5 §-21 14 '
MiGtiantomn Charge Energy g Lenz's Law is in accordance to the law of |
conservation of |
N - J
s & =rl Gy el (OR) LI
x= AB x=A+ B x = AB x=A+B o el e

The boofean expression for OR gate is

10831020 45000 (4)
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Part i J;f i
Answer briefly any Five parts from the followings:- 5x2= 10 -u’//, .JU:"/"?[. 4 éLc..Jf:. e J’: L -2
If the length of a simple pendulum is doubled, what will be the i s (LLV‘I Vi b/ lf'; ou JH.’ uwf (i)
change in its time period? L,r Vs d’ i
Define the Restoring force? ezt Ly S UL (i)
Define wave equation and write down its formula. ‘."d’f/ Uy U1 U_’/ - fu(;!;u J £ (iii)
Flash of fightning is seen 1.5 second earier than the thunder. How far away Ul :,Lc.&:jyuf)'_ﬂ 58 b d 840 ‘:L‘fu LEdet v
is the cloud in which the flash has occurred? (speed of sound = 332 ms™) <3 ms' ey s ,»J",,; Girliu i f
What is meant by acoustics? e slrifa diF lr‘ (v)
In which sound moves faster in a solid or a liquid? Why? czl ur e G2 u&/ﬂm}' e LUF (i)
What is difference between nearsightedness and farsightedness. o SV d)’.«)’ /:w/*._/ /2 (vii)
What is meant by critical angle? fe Ve | J{" ) (viii)

Answer briefly any Five parts from the followings:- 5x2=10 -q/;i..w /"L 17! &«; & ch. S JJ tor -3
How conductors and insulators be identified with the help of electroscope. -t WL = KR Pl e s .,r:/ﬁ! (i)
What is the difference between variable and fixed type capacitor. L J;,t HAGs (i)
If 0.5 C charge passes through a wire in 10 S, then what will be lw'/ut Vi k@@m Stk 05 Gk xc‘..{ f (i)
the value of current flowing through the wire. - b s
Define resistance and its units é&% 4?. - /‘(, Y L st (iv)
State Fieming's Left-hand Rule. _._-{ulf Sl 71194 Wﬁ( % rove that 1 kWh=36MJ fu’/ = (v)
Write the names of factors affecting induced e.m.f. % c‘f z f'tz: NFL s &yt St F g ALI dey 21 {vii)
What is the difference between a generator and a e \fu P GolE i 2l i 2 (i)

llowirlgs:- 5x2=10 -q&;’.,wf‘&m by = L Lstn -4

Answer briefly any Five parts from the

Write down the symbolic diagram and trut f NAND gate. u‘GJ‘"ﬁm Lf 1 J J NAND (i)
Name two Digital quantities. . JU'M‘}” $s (iif)  What s cathode Ray Oscilloscope?" "qf 2z ..,r('hla.u/ (ii)
Name three essential parts of mmunication system. u’i uﬁ’Jzuuf & ("’ u"; 21 J (iv)
Give difference between ROM and RAM. 3L RAMAIROM (V)
Write two properties of Alpha-particles. -ut’g..:“by‘;u J }?/; Wi (vi)
Define Nuclear Fusion reaction. -u.‘d -°.f/7 U/cfﬂ': 1o il A (i)
Define ionization and penetrating power of radiations. oy Ju;‘-’/.‘J BNy (2 B2 ST (Vi)
Part II [ o
Note: Attempt any two questions. 9x2=18 -Jf(f..«&lié.«mr»a, &7 e
Define simple Harmonic motion. Prove that motion of (44 / ey jf—z J rf b V) ¢ o /“J Uig 'Mu .5
mass attached to a spring is S.H.M. e A S gr S
The power of Convex Lens is 5D. At what distance the object should be (o) gt & () e F-c-5Du S~ J: (N
placed from the Lens, so that ts real and 2 times larger image is formed. d:rd‘b E'\ox e el J () = zf P
State Joule's Law and derive its equation. (A4 sl f5le lst—qﬁ FIIp, /wau KJ.? O)-6
A Capacitor holds 0.03 coulombs of charge when fully (+45) l/ Loy /)’J‘/ e $ ..5 6V k3 /‘” .M ()
charged by 6 voit battery. How much voitage would be 2Cy }::”-4:_ by (e 0.03C 17l
required for it to hold 2 coulombs of charge? oL v 0 i‘J,, LS L
Describe in detail deflection of electrons by electric field and magnetic field. (. Ao o/ e.,'L o 22l f'): J /,/-*':..uw&' L. n‘.&..fr?i O.7
Cobalt-60 i a radioactive eiement with half-life of 5.25 years. 75y Ji26 ol Jv5.2551 utu 60\ ) tyts (L)
What fraction of the original sample will be left after 26 years? -B ...tpud L e e S {ge- M’LIP".-—

1084-1020- 45000
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QUESTIONS

(D) (C) (B) (A) Q-1
i@!: 3 &l UJ:g/ A -Gﬂgﬁ{‘/’?{ayr‘;dﬂJ“‘f;gﬁ(Jz:éu:d_'h_?u'f 1
e Which of the following characteristics of a
Wavelength Amplitude Frequency i wave is independent of the others.
Jed Fil Gl & RS B 5 S PN S AP TN I T (S O N $ 10 B
Sound level Quality Intensity Frequency |The characteristic of sound < dL&(.JF/ IS
by which we can distinguish between two
sounds of same gudness and pitch is called.
" ” 1 . _ﬁmbwm G i | 3
Number 0 es used in a slide projector is
300000 30000 3000 300 2 %ﬁ"“"f AL FE TS Len| 4
we can see the stars in the sky
sl {iwithout telescope.
@5\7 Jabid Livl Ldme £ Ll t0CLl| S
10V SV 2V @ -b'ngf‘)i J"‘guyué_-..u;u)»uuq_rgt/J»-
{{&O iR i Wf work is needed to shift 10 C of
h one place to another. The
. potential difference between the places is
Y Aol W Jz -4 (S1) ST J| 6
Volt Ohm Coulomb Joule Sl unit for potential difference is
< Qs dnfte P e & Jbax e d el k| T
Vanishes No change Decreases Increases |If we increase the area of wire. Then its resistance.
;//u‘(" Ve '/-.Jr JuT q"_::_ufgﬁfpfﬁ‘}:’,lri)f/;ﬁﬁu(}r‘ddﬁ 8
Slip rings Brushes The Armature | Partofa D.C >3 /S erf Sl
Commutator motor that reverses the direction of current
through the coil after every half cycle is
Ffhkef | S Fopd! S| _eruntinPe S SS RS | 9
Thermionic i : o The process by which electrons are emitted
Emission Conduction Evaperaton Balling by a hot metal surface is known as
A 37 o 5 e Iy g, L A F e 17 | 10
Glass Cathode Tungston Phosphor The screen of a cathode ray tube consists of
a thin layer of
e 13 St P2 e Lokt | 1
Control unit CPU Memory Moniter The brain of any computer system is
Akt Ak | AL A8 | g WA szre syt Aua| 12
Beta Alpha Background Cosmic Radiations present in atmosphere due to
Radiations Radiations Radiations Radiations |different radioactive substances are called

1081-1010- 58000 (1)
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Answer briefly any Five parts from the followings:- 5x2=10 -q/;/..-.uz/“'z.’. 1Z1 5& c.ch_ 94 J__’J L -2

rove that v=f 4
Jefine Restoring force in vibratory motion of simple pendulum
~hich component of the weight act as restoring force.
A wave moves on a slinky with frequency of 4 Hz and
wavelength of 40 cm. What is the speed of the wave.
How can the Cracks detected by ultrasonics, appear in
interior part of high speed heavy machine?

What is the audible frequency range for human ear.
Write the method of finding the direction of magnetic field
around a current carrying conductor.

How can the total force acting on the armature in DC motor can be increased.

What is meant by electromagnetic induction.

v=fA4_gl=p ()

Kok S izl g o PS b iy
et/ L 3, wsl Lol

&40 cm 14 Hz K8 1§ S ¢ i)

S TNI)

F Uiy Satt £ U St s e Je1 L Jfrlf"!

et §ozr Susins

- W § 5 ese SG L £ ¥ dUi

Y, KL)}:"’:/J.U:‘ EEL Pl e/ L0 (vi)

-« Celen LS i Sy LT e 53 (i)

—esp Ve 3 B2 (i)

(iv)

v)

Answer briefly any Five parts from the followings:- 5x2=10 -Q/})’._-W/”Zl?! &g:.&fc—gﬂ‘}}b.u -d

State Laws of Reflection of Light.

What is difference between centre of Curvature and Radius of Curvature?
The Power of a Convex lens is 5D. Calculate its focal length.
What is difference between data and information?

What is meant by secondary storage devices? Write the names of any two devn%@% 7 /r tL me §f e spUe PGk

Define Word Processing.

State Coulomb's law. -
Write any two characteristics of a p ~
What is meant by ohmic and non-ohmic conductors?
What is the direction of conventional current in a circuit?
Convert one kilowatt hour into Joules.
How electron gun work in cathode ray oscilloscope?
Write the truth table for NOR gate?
Part 11
Note: Attempt any two questions.

Define myopia and explain it with diagram.

If a AnarKali Bazar Lahore intensity level of sound is 80 dB what (~5)

will be the intensity of sound there.

comblnatnon of capacitors,

Jubu‘la’ﬁu’atfo’u (i)
@?ﬁ Fs/ ST RL . for S ST/ (i)
S S sie 5D SRS i)
?q_u/w:u’/w»uz: (iv)

(v)
(vi)
¢ (vii)
~=ffz/~':VJﬂJw‘-‘q-:'/Lfc—édfb“ (viii)

,J/J/J\.—C':/ 3
%5 / r:“’:'.u‘ S /iu S U’brﬁlbc.. 2 X ewf Sy

owings - 5x2=10 S Sz L §) e M L Sits -4

Define electroscope? -/ 6291 (i)
et s IS FE LI E A i

-l Ve /.J..G,l et Lasl (iv)

- 8.« lny&/J*ffut _'// (v)

2 ot JzSaTen s L (vi)

"L. d/{((;)jd(u’/ahﬂ v,ﬁ)",'r._z 74 (vii)
*‘ef KA vl (wiii)

(2 -
9x2=18 Ll fe Ml crne S o)
(A9 q;.:«?u:c—(’)?‘51:’0!4}0’(},:'806};54; 05
V17580 dBUX e sl €2 ST ()
-d’n L{;.....;.,\ d’i‘:l/

Explain the energy dissipation in a Resistance. What is Joule's Law? (£4) -2 wkgd ¥z 2 25 2ol J G Uit Sk O)-6

The force of repulsion between two Identical positive charges is 0.8 N.
When the charges are 0.1 m apart. Find the value of each charge.
Explain the working of different parts of cathode rays oscilloscope.
Carbon-14 has a half-life of 5730 years. How long will it take for the

quantity of carbon-14 in a sample to drop to one-eight of the initial quantity?

(79 22 e 08NS unl 2 g & fin (o)
-quh’/wd'(wl” iunéﬁq &£5£0.1m

(A 2o SSL SN BL g3 Ot

A9 §14-gk-e J5730 50 U § 14-08 (&)
oL L Lo (E £ 6 i
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct:

Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-T
LGS | Lound 25 X LT 2L ok - ek 3He LS S 1
Chemical &_.; 2 Buming < Nuclear Release of energy by the sun is due to

reaction Nuclear fusion of gases fission .
s B | | g W PTINN
Mczcl::\?g;cal Particle waves Electr‘c:s:gneﬁc Stvavgegzry Radio waves are
s s igs9ds Jys A VTP 1% : @' -l u";(dt‘» G B 3
Water waves | Radio waves | Light waves | Sound waves | Which Prfﬁg,e ple of longitudinal waves
3.5x10% ms™! 2x108 ms™! 2.3x108 s~ 3x108 s~ o e b SGut ok T
/70 é@ of light in glass is approximately :
1.31 1.32 1.33 %@ ; ex oficeis. -« S s

9x10° Nnfc? | 9x10° Ninfc? | 9x107® Nnde ™9 wdfKEUIL | 6

5\ The value of K in Coulomb's law is |
£ 32 Ly ey 7
Ampere Farad N hm Volt The unit of resistance is
I Ns 1 Js™ X 1Js 1Js2 One watt is equal to e sz L] 8 |
Py # P, Pp> P, Py <P, Pp= P, | Lyl o
For an ideal transformer |
29 A 76 Fur e lat] 10
Inverter Transistor Amplifier Conductor |NOT gate is also called .
y Jix o Py ¢ te P/ 2CRO | 11
Zero Neutral Negative Positive In CRO, the Potential of grid is
97 7 Fs s -r‘_z.uﬁag.:fl,uﬁ 12
10 8 6 4 One byte is equal to bits

1083.1015- 45000 (2) B
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Part I Jof -

Answer briefly any Five parts from the followings:- 5x2=10 -;[&;aglzx"?ﬁlzl égc_dfc_u! ‘_b r -2

Distinguish between longitudinal and transverse waves.

Write an activity that shows that water waves transfer energy

without Transfer of medium.
Write at least two features of Simple Harmonic Motion.

What is meant by intensity level of the sound and what is its S.| unit.

For hearing distinct echoe's write necessary conditions.
State Fleming's left hand rule.

Define Faraday's Law of Electromagnetic induction, also state

at least one factor affecting induced e.m.f.
State the working Principle of electric motor.

L SR ()

ity (O Qi St Lyl f8l s i)
it Fbsme £ 2L far 3

..u_/:{f::_L’n‘;» J‘_’;"u{"‘l} J;‘?//f/ (iii)

LS IS o e S ETIL 250 (iv)

S B2 E £ ()

Sl VL L (vi)

Fog S a8 ,@?,f‘?unué-_sy;" (vii)
& e L i S d 1§t iep i F

S 3K g IS T i)

Answer briefly any Five parts from the followings:- 5x2=10 _g_[f(}’cp LLZ}""Z rd) ég :.J/:.u! gb n 3

Write two laws of refraction of light.

Define power of a lens and write its unit.

What is meant by software? ‘<l zisdy  (iv)

What is meant by telecommunication technology?

Write two uses of radioisolopes. & =1L et r'/l';'):./ (vii)
Define the term atomic number and atomic mass numbe

Answer briefly any Five parts from the following

What is the working Principle of an electroscope? Q
Define electric field. Write its unit also? ©
Define unit of power. ‘.U-/ ...y/""gf <
How do the Jewellers identify di

(iv)

as real or fake one?
What is the difference between a fuse and a circuit breaker?

. S LV L LG )

- tf'/" UI/'-‘Q."/JJA - Tug (ii)
@formuia. &g P Svr 2 i)

. {O\O el BB PHIE ()
@ o Services of intemet. - 25, 7=l S ef (vi)
SIS ALt A (i)
x2=10 L2 f N2 LN By o M L SLitn -4

VB PLSRE A9 ()

¥y S P EB S Gy

What is meant by Filter circuit? - éf & _*f/ﬂ’ (iii)

U é/{ug‘ggﬁ.n L}“;;:J’:L;;:J):f (v)

e J/ y’u: vy _‘f/n‘ 7 (vi)

s e
-

Define and write

How the filament is heated in an oscilloscope and why is it heated? U Z_f(/u[ elnle th k_frfr__'(fc.mﬁtﬂ .',:Cr.‘.’;l (vii)

Define NOT gate. Draw its symbol.
Part

Il

Note: Attempt any two questions.
Explain refraction of light through a glass slab with the help of diagram.
A pendulum of length 0.99 m is taken to the moon by an astronaut. The
period of pendulum is 4.9s. What is the value of g on the surface of moon.
Discuss the main features of parallel combination of
Resistors and determine the equivalent Resistance also.
The electric potential at a point in an electric field is 10*V .
if a charge of + 100 ic is brought from Infinity to this point,
what would be the amount of work done on it.
What is meant by cathode ray oscilloscope. Explain the
working of different parts of oscilloscope.
Cobalt-60 is a radioactive element with half-life of 5.25 years.
What fraction of the original sample will be left after 26 years?
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(D) (C) (B) (A) QUESTIONS Q-1
JL30 Years | JL 20 Years | Ju-50 Years | Ji-40 Years |The Half life of cobaltis - i f ety | 1
Fr St {4u e e Lot 2
Monitor Memory CPU Controbunit | The brain of any computer system is
UinCulA | STk |yl gt | Tk A e il | 3
' Both Aand C Logical Non arithmetic] Arithmetic | The Basic operations performed by a
i Operation operation | Bfe{atim computer are~

G2 ridon| 4
,J@@)s(b@waves are

350 ms” 340 ms™ 330 ms™ 320 mz'@5 - 1 J By Frfen| 5

- The Speed of Sound at Room temperature is

O ] s
<&

1 2 3 ' 4

[

1.33 2.45 - 1.3 1.52
The refractive Index of ice is
E‘E‘i’,gﬁ dj‘}g/& o VJJ' Sﬂddé;/'ﬂdufﬁ—uttzjb”d'mﬁU:'(/.’/J(ﬁz 7
Its wavelength | its frequency s Speed i Dirsction Which one of the following quantity is not

change during Refraction of light.
el KeusL N 8

The vatue of 'K' In Couiomb's Law is

9x10" 'Nm2C?| 9x10°Nm?C? | 9x10''Nm2C? | 9x10°Nm?*C?

Ut BulA | St | g g | g gae ol | e.mfsJy L 9
Both A and B | have different | Two different are same . .
arils quantities quantities Electric Potential and emf.
BJﬁ(ﬁzJJ/'J/c;vg’)éc_iﬁc,J‘g)Z[ 10
1202 8Q 40 2Q) :
K l_f.;/ Kuy)/ Julc— LJ:Z;.‘Q)JJI[“;.. (U
The combined Resistance of two Identical Resistors
connected In series. In series 8 chm their combined
Resistance In a parallel arrangement will be
ey &l |t B (ctnridv]| el A e el = ¥ Gonr S5 JEF| 11
Magnetic Stationary Stationary .
cor?) negative Bonifive Small mass | The presence of magnetic field can be
e charge charge detected by a
53291 Sy Fik F ik G LWunthe e S2 HA | 12
Electrons Protons Negative ions | Positive ions | The particles emitted from a hot cathode surface are
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(1) st So il (2015-17 & 2016-18 u”-’) : C(zen g,
4845 (s 1) EQPLEes
Part 1 d:l - — e
Answer briefly any Five parts from the followings:- 5x2=10 -u)}/uyli/"zﬁ?l étc,éfc.u.‘g))o» i,
Define reflection of waves. -/ ..»/’J u’a J gy {i)
What are mechanical waves, write an example. -u:’gdv.._(l-u_? Wy J‘)y (ii)
Differentiate noise and music. -u///-u"/'uﬁ iy st (i)
Write down two uses of ultrasound. J //qub"lué wﬂr (iv)
Define intensity of sound, write its unit. u‘{..«:' £l J/ ..-J/J LFJ? £ (v)
Define potential difference and write its unit. u"f._// K,fu!u/ J/"J u‘}, J"’;‘ (vi}

What is unit of resistance? Define it (J e’ 4 Lﬁ fe Lf../i ¥ u’t’u (viiliy  Whatis meant by electromotive force?%c_ sl L Ve s im/al (vii)
Answer briefly any Five parts from the followings:- 5x2=10 Sl fe Mz L7 &Lc..(jfc..uﬁd’wu .

Define power of a lens and its unit. o -é i /’J iy qul»t J A )

Define the terms Resolving Power and magnifying Power. -é ._y/JJ :,lou:fJuTL %} J?Jslni‘.r ...5&4/ (i)
State Coulomb's Law. Yl wFEd (iv)  Define Total Intemal Refiection.-&= =3/ AESES i)
Define the unit of capacitance. sl L e df'f (v)
What is the role of computer in everyday life. (0 " A/ s K/’);;{ JA J}) o010 (Vi)
Differentiate between the Primary memory and secondary memory I Wl S Sl S § /'14 (vii)

What is Internet <O - Vet (viii)
Answer briefly any Five parts from the followings:- @@h oyl feg ALz &L .:.J/a,uﬁdsz,» -4
What is meant by mutual induction? Define its SI unit. o pleysil S Fr S (i)

Define thermionic emission. -2{_’: .g/JJ u’:fi.f i What is meant by electric motor..c»i/k Ve ,,»_f,ﬁn (i)
Write names of two parts of cathode ray osci e. &l s Ur"uZ: ke s (iv)
What is meant by trouth tables. it )f/ Ve Ka2 (v)
Differentiate between atomic num neutron number. O At s AL (vi)

What is meant by nuclear fusion: -l Ve @i /’fn (vii)

Write the causes of background radiations. ' J =l J /ld.u‘c,lf...c (viii)
Part Il ( 2

Note: Attempt any two questions. 9x2=18 Sl fehp Latvnedf  od
Distinguish between longitudinal and transverse waves with (4 L Uy J u/uv/,é i u’/HI/u' J)z”g' 0.5
suitable examples. -u/ =Ly £
An object 30 cm tall is located 10.5 cm from a concave (45 1y44e6L105 eme 1 ,/ (5130 em Ll (&)
mirror with focal length 16 cm 716 cm ;in(f /// B
(a) Where is the image located? (b) How high is it? Jyr U’db’:' J Cl (b) ¥: S uLf 5 I(a)
Write four characteristics of series combination of capacitors. (A4 -u.j...by";b J Ry /z.’. J )"f -6
A electric bulb is marked with 220 V, 100 W. Find the (79 Auie rbd 100 Wsi220 v/.,l._f/ol.ﬁ ()
resistance of the filament of bulb. If the bulb is used 5 urf 5201, ok /i é r}"u‘pu J el
hours daily. Find the energy in KWh consumed by the bulb 7S )..v-’.f g AUti LfJui
in one month (30 days) S I¢|”Ko7 A
What do you understand by the term word processing and data managing. -yl Ve =b ilb“uf .,Cf G ,C"‘:/ 59 )T
Technetium-99 is a radioactive element, has half fife of 6 hours if there is L &' 36< & e -] 499 - (3'; 519k (o)
200 mg of this Technetium present, how much wili be left in 36 hours. -J ‘oo dl, ‘,,....K.., (f{ o J,’ (lf J’ 200 »

1062A-1018- 45000
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-,ﬂf;vli- ~pj",h!7:'1.)’::*;;’.f.) J b {"LV "u- < iy J - Kot (FArerlz) 101 E'
...... o B ( 201517 & 2016-18 %) (hert GEF (SIS
12,4} (oS PAPER CODE 3472 L e 155

St LA Gl e ene fum& ene bl Jivg TN rd z,DnsC,B,A .—.u:’.-f,lp.»: iy s = s
n}"/ 24 Dt SA uh L db dl:’ €@ bl 12 0ufs S HJWJL./’/ SeK eSS usriic. L1850 fa
e LA s ey, ,*_/wd,u),, ekt e §E Sl el NES s PAPER CODE
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
4, N 54 i gL BB uk ok
Wavelength Amplitude Frequency Speed In a Vacuum all electrumagnetic waves have the same
wm? W m W m? wm'  [S.]unitof Intensity is. 2
L on= sini n=sinf ¥ & s'ﬁ _ sinf  |Snell's Law is - I VJ-':/ 3
S| F ¥ Ule st Mf.}mn’.éawé £ 4
None of these | Bronchoscope ] pe el p@\ 15 used to examine throat is called
I L i '"""2 F=Eq T k| 5
.6 i/ WAL 2 Z12v| 6
60 W 30W 145W a, @ St inds e R
| tnps. ) 25A c LU
ﬁ\&o What is the power rating of a lamp connected
N to a 12 V source when it carries 2.5 A?
600x10*Com | 300x10°CQm 200@@% 100x 107 Cm I LB S SEn | 7
Specific resistance of metal Nichrome is
LSl | o J;/d/'{ g 1(5” g St e SR ] 8
ur ik f J Lﬁxg 31%; bl e bl The step-up transformer
Has less tumns in | Has more turns | Increase the | Increase the
secondary coil in primary input Voltage | input current
uﬁdfc_‘,tuv ugdf;,utui Ui U1 U /‘Jﬁ'O'_*/,..‘ATJ.‘/_rH 9
J” T J”/ »-:gc)' L’f 1 “"’,w L”/ "" ! The output of a NAND gate is '0' when
Any ofits [Any ofits input| Both of its Both of its
input is '’ is'0’ input are '1' input are '0'
ES W LS UL eS37% bwe ce Sk Sl | 10
Gathering Calculating Manipulating Arranging | Which of the following is not processing.
eA K 1054 | et F 1044 | ek 1034 | o 1024 —e e e L 11
1054 KB 1044 KB 1034 KB 1024 KB 1 megabyte is equal to
PN O < WA ST Y, AL NSl | e tr B E Ry LAl S E LI RIT] 12
Number of Number of Atomic : Isotopes are atoms of same element with
electrons Protons number Atomic mass | different.

1063 A-1018- 30000 (1)
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Part 1 ,.),t -~

Answer briefly any Five parts from the followings:- 5x2=10 _uf{j._,w/.ém gt;éfc_.‘ﬂ J: Lo -2

Define Amplitude.

Define mechanical waves.

What is meant by noise poliution.
What is meant by Zero bel.
Define Ultrasound.

Define the unit of resistance.
Define conventional current.
Define electric power.

Answer briefly any Five parts from the followings:-

Define power of lens. Also write its formula.
Write down the function of Gastroscope.
Write laws of reflection.

How electric charge is Produced.

Write two uses of capacitor.

What is meant by floppy disk and hard disk.
Write two Advantages of E-mail.

Write names of two parts of computer.

S T U

P i S (i)

e ST (i)

—elpVefagi (iv)

g fSEeA ()

e Lot i)

LSS I i)
Sy S (i)
5x2=10 Yl fe Nz AL b AT
& Sk S sirl Ve sk 2 W

-JJV! (_AFJ)’:’, (ii)

zf//]fy’f._sf'm (iii)

- :; e & o .;f,j (iv)

& i L (v)

@(/\c_ g t;(c.. L3 7 L3 QUJ (vi)
&8 03l S8 (vii)
e L urn L ipd (viii)

Answer briefly any Five parts from the followmgg Z@l -d/(fuw/‘l.m ég a.ch_.J J: Lo -4

Write two factors effecting induced e.m.f.

State the Faraday's law of electromagnetic induc
Differentiate between analogue and digital r@'\
Explain NOR gate.

Define Cathode ray oscilloscope,

Write two characteristics of beta particles.

Differentiate between atomic number and atomic mass number.

Define natural radio activity.
Part 11

Note: Attempt any two questions.

Explain the following properties of waves with reference to

ripple tank experiment. (i) Refraction (i) Diffraction

An object is placed 6 cm in front of a concave mirror that has

focal length 10 cm. Determine the location of the image.
What is goid leaf electroscope? Explain its working
principle with a diagram.

If the length of copper wire is 1 m and its diameter is 2 mm

then find its resistance.

what is meant by Computer? What is role of Computer in every day life
carbon-14 has a half life of 5730 years. How long will it take for the quantity

of Carbon-14 in a sample to drop to one-eighth of the initial quantity?

e St dts Lyt 141 S B ES et 3 ()
Z’:ulﬂfcﬂ -@’G:/a'c..l/u:‘b (4.:'/' {ii)
L OpLSOIE I S (i)
Sl fe it (iv)
_JIJ/J..AC:V!'G/ L (v)
& LA S EA (vi)
E AL bt ALE (i)
G E b JE (i)
(s -~
9x2=18 IfepLcvrnedd -od
(A8) =2lo JHL’"’JI!’ J;)/Mc.. ud/./‘..@ J/ -5
G L 0 U
(#9) ellie 10 cmigfig(tf//;g()v( (<)
-J/r}”u”n’(,((:l-c..lr !//.M’LG cm
o S LSk 1tednt o ,;au.«u/ )-8
-J/(_pb;rl/tb;’u ¢
s Suiin2 mmEus¥uta1 mdudrd N (o)
RN N o)
(A4) -< belf(u'lu‘g,(u V2 A" b(;,/r’{ O-7

(79§ 14 -wik-c JI- 57305 J 14 - gk (-

S = L L in f.f g duit
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